EARAROBREBRT —5 XN—ZXBISH—F 20235118185 (£) 3mmERSH
(“EA

Y vS%3mE 1BISR (B 5T £ IR
[AH=%] 1 7% :8,000,000 § .~ 27&:3,200,000 F 37 :2,000,000 3 ~ 43 :1,200,000 4 . 5 & :800,000 M

B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— - - IRHIEE 134, - . . BUAE (FER)
11815l 7v/ xwt—v [B] i3 L 1(3_4)4 2-2 33.9/ 9.3 | 6 (4_63 RS
RiIW—5—=IvF BFFAXvE—Y /=Y ITr—1L
< . — )| | EBF A 134. - . . ENEE (FEXR)
215|9 | VIWIFP—F21—7T "3 50 1(33‘§9 S B R f_’r’; BIBFIE
R:VILN=ZAT—bk B:I7FFT14—2R PH EE
<~ INA—=2 4 4 | EEAW 1:35.0 11-7 3410927 3 70 |EIEE (ER)
317|112l VA NO—=X 58.0 /2 (-4) iﬁ%ﬂ?’x
RIET7RA7 &:Z1—)LNO—-X =IR%US
g R st 5 | AEAE 1:35.2 7-7 34.4190.5 | 8 | 476 |EAAKBR= (ER)
4 FUZ—F ¥%55.0 (3/4) 10 | # E9H-TU—9—X-21=F
REFRF BFAT—R BRSO
—_—= EUIE:S :35. = . . = (FE=R)
5 RYAHZ=IY 40 s W2 342) 84 (5342) IEER
RIXVUSTvR #:FILX— EHERIY R
o R SEEA :35. - . . FEEES (FER)
6 Y3uFYSIY R [ S el e B By =
RiFAITRXIv— B:vaoFy FoIEFTIRT7—LA
o Patesled : - BREE (TR
7 Hh/U—AX o4 | BB 1(73?:? 77 346|869 | 7 (4::34) mE &FH)
R:FA=TAVNT s B:RAV4—F4—H—I DS
3,5~ 4 4 | HOBX 1:35.5 7-7 346 8.9 | 9 20 | SERE GRER)
8 V9 54,0 (F9%) 10 | BRERYILD
RIIET7RAT7 B:N—F A J=HUT7—L
g JIRERL :35. - . . GIgsF (FEHR)
9 NIWVEUTF1sS4 b 3 *51.0 (11 315/27) R Ead R ;‘_i; mr%;
R Vh—0 B:O/4VILT1S oh¥us
< < SR : - EHS R
100111 RILVAYvwIL Y i A52.0 1'(3263'1 b %.71 766 10 (‘:132) E'Fgﬂ%?n w
RJYTURL B:FFa1SIWRAIVR HBEI7—L
~ ~ o4 | MEES 1:36.5 10-11 [ 35.5] 73.9 | 13 | 484 |JLHEA (E=)
11|5|8 | ®@TYUAHY 58.0 2172 (12) | AR
RiUAVF4—X BiRkyI—7L—)b % g
S )G ) — 4 3 | BHEE 1:36.5 6-3 35.8| 72.7 | 2 482 | FEKAE (BR)
12| 7|13| FIVYIT L)L 5.0 NH) o | @ xoEs
R:FIVYITSvo B:FIYITUIER TFHOHKS
< = = t 3 | BEEEA 1:36.5 13-12 [35.3| 74.8 | 4 | 430 |RERX (ER)
EH 4|RVTIAZ 55.0 NF) ) |SEBS
RIVZIVATFa=IL B:RVTS /=Y ITr—1L
» % 3 | M. FA—O 1:36.6 3-3 35.9| 71.8 | 5 | 466 |HKEHK (FR)
14|18 14| 7 VI ERT 55.0 Grd) G | @ BYF-L-—vvz
R:O—RAprO7 #B:TIFERY /=Y Tr—I
N Lgas) - - - - - HEMER (%R
N 6| I—NYYITR #3150 250 (i%) tﬁ,ﬂ.ﬁﬂf( )
RFAIXTv— B:A—ILRIALTILY J—=HUT7—L
[ BN
En'y 46.1-34.0
NOVIA L | 12.7-11.2-12.1-12.3-12.1-11.8-10.8-11.4
@ 11— —BBIEIL
13—7F—
20—F—
Ja=zr= 1,15(7,9,14)13(2,3,5)8(10,12)4,11 6
40—F— (x1,15) (7,9,14,13) (2,3,5,12)8(4,10,11) 6
0 ILRE
BB 15 1,330 | | 94 R 9-15 530 AR 5-8 630 3hER | 9-12-15 2,220M
B B 15 2704 12-15 930 o 18 9215 1,260 3Es (1539512 19,8204
9 120/ 9-12 3504 oS- 15-9 3,780
12 1904

ABIC OV TRUTEREERRODDZE. THRIIZEL.




